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$1000 is deposited in an account. e
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1. What is 20% of $10007?
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o 6.1 & 6.2 Preview - Lump Sums
A lump sum (called the present value,

or principal) is deposited into an . f \300
account today. f_ﬁ i

5 000 0 ‘\.‘ \“ [‘\ |
The account earns interest, L_Jﬂ/) B
but no other deposits are made. oy T ;v

TN ey = FV - PV = 800 ~looe =800
Terminology:
P = PV = present (start) value
F = FV = future (end) value

| = total interest=F—P

r = decimal interest rate,

t =time

m = num. of comp. periods per year | "Mere o~ RS
. NET Thng

n = mt = total num. of compoundings -



" Three types of lump sum accounts

1. Simple Interest (no compounding):
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Two types of compounding: , |
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3. Continuous compounding: )
F = Pe™t



6.1 Simple Interest

When an account says it pays simple
interest that means that interest is
only calculated on the original
principal. In other words, the same
dollar amount is added to the account
each year (interest is NOT
compounding).

Example (Prob. 1 from homework):
You invest $10,000 for 8 years into an
account that pays 17% simple interest
annually. Give the future value and
the total interest.
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F = \0000o + \00mp +0.17 8
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6.1 Miscellaneous Homework:
(all 6.1 homework is simple interest!)
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7. If $5000 is invested at 9% annual B0 = 5006 + S000w0.0a- & e,
simple interest, how long does it take to Solve Fon £
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5. A student has a savings account

earning 3% simple interest. She must | S" 4 wonHS X
pay $1400 for first-semester tuition by EPT, \ Jen. )
September 1 and $1400 for second- \ ;‘lizz ;ew S
semester tuition by January 1. How much + oo P 400
must she earn in the summer (by f_f:fw;fj —
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8. A retaller oOwWes a wholesaler.SSO0,000 @t SAVE For bo-DAYS, BT
due in 45 days. If the payment is 15 days by A \% \ATE FEE

late, there is a 1% penalty charge. The TNOTE : WwiL- UBvE 4B PAY | o
retailer can get a 45-day certificate of 5%??”‘: g’f’,,‘yJ
deposit (CD) paying 8% or a 60-day = WATE
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